Exam 4A
Chem 1121
Fall 2013

Name: ICEY

SHORT RESPONSE. Show your wotk (where appropriate) to receive full credit. Use the
conversion factor method for all conversion problems!

Q1. [15 pts.] Given the balanced chemical equation:

2C,H(g) + 70,(g) = 4CO,4(g) + 6H,O()

a) How many moles of H,O can be formed when 1.40 mol of O, reacts?
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b) How many grams of H,O can be formed when 2.19 mol of O, reacts?
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¢) How many grams of H,O can be formed when 43.0 g of O, reacts?
22

otlee  yap e (Lo H[BOel _30.8 o )
l 32_-00301_ \7%.( O, [Im( H.0

d) If 20.1 g of H,O are actually formed in patt ¢, what is the percent yield of this reaction?
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Q2. [15 pts.] Explain the three steps that happen when an ionic compound such as NaCl dissolves in

water. Draw a picture of the process as part of your answer. H
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Q3. [10 pts.] Define the following solution terms:
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Q4. [10 pts.] What’s the molarity of a solution prepared by dissolving 12.4 g of NaF in water, until
the total volume 1s 250. mL.?
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Q5. [10 pts.] How many moles of HCl are in 25.0 mL of 12.0 M HCl(aq)?
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Q6. [7 pts.] What’s the osmolarity of 1.5 M Na,SO,(aq)?
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Q7. [8 pts.] What is meant by the term: “colligative property”? Give one example.
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Q8. [10 pts.] What will happen if a ted blood cell is placed in a hypettonic solution. Explain your

answer.
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Q9. [7 pts.] How many grams of solute aré there in 140 mL of a 3.4 % (w/v) solution?
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Q10. [8 pts.] What are the four physical quantities that we typically measure when dealing with
gases? What are their symbols?
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BONUS: What is the relationship between mmHg and atm?
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Useful Information

Periodic Table of the Elements
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Do you know
theobromine,
the friendly alkalold
In chocolate..?

And calfeine,
the main ailkalold
in coffec?

Yeah-what
about them?

Well I've synthesized a
fantastic new compound
that contalns them BOTH,
linked together...

Whooo!! | wonder
what effects THAYT
little molecule has..?

We should know
soon-{ started testing
it out on the fab-rats
yesterday.

How are they
reacting to it so far?
Any signs of toxicity?

No....In fact, the

carly indications
look quite

promising.




Exam 4B
Chem 1121
Fall 2013

Name: JCE)'

SHORT RESPONSE. Show your work (where apptoptiate) to receive full credit. Use the
conversion factot method for all conversion problems!

Q1. [10 pts.] Define the following solution terms:

a) solute

Wla

b) aqueous

c) saturated CLJ\WI\
d) concentrated < .

e) unsaturated

Q2. [8 pts.] What are the four physical quantities that we typically measure when dealing with gases?
What ate their symbols?

) N\__, whose symbol is
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Q3. [10 pts.] How many moles of HNO; ate in 35.0 mL of 15.0 M HNO,(aq)?
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Q5. [8 pts.] What is meant by the term: “colligative property”? Give one example.
Ceo o & Pr

Q6. [15 pts.] Explain the three steps that happen when an ionic compound such as NaCl dissolves in
watet. Draw a picture of the process as part of your answer.
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Q7. [15 pts.] Given the balanced chemical equation:

2C,H(g) + 7O,(g) — 4CO,(g) + 6H,O()

a) How many moles of CO, can be formed when 1.40 mol of O, reacts? \
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b) How many gtams of CO, can be formed when 2.19 mol of O, reacts?
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c) How many grams of CO, can be formed when 43.0 g of O, reacts?
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d) If 30.1 g of CO, are actually formed in patt ¢, what is the percent yield of this reaction?
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Q8. [10 pts.] What’s the molarity of a solution prepared by dissolving 12.4 g of KF in water, until the
total volume is 250. mI?
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Q9. [10 pts.] What will happen if a red blood cell is placed in a hypotonic solution. Explain your
answer, HJPO *SW\\L = lower 50(\4,& ecnte = Hl\akﬂ/ Hp (o /
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Q10. [7 pts.] How many grams of solute ate thete in 140 mL of a 2.8 % (w/v) solution?
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BONUS: What is the relationship between mmHg and atm?
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Useful Information

Periodic Table of the Elements
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